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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER—-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

The word ‘Holy-day” was under common usage during the :
(A) 10th Century (B) 14th Century
(C) 15th Century (D) 16th Century

If you are moving around in a bird sanctuary and observing migratory birds, you are,
in all probability a/an :

(A) Leisure tourist (B) Eco-Tourist

(C) Explorer (D) Adventure tourist

The Pampapatti Temple in Hampi is the contribution of :
(A) Chalukyas (B) HoySalas
(C) Vijayanagaras rulers (D) Nayakas

The Oldest Rail museum of India is located at :
(A) Ghatkopar, Mumbeai (B) Varanasi
(C) New Jalpaiguri (D) Chanakyapuri, New Delhi

The main objective of HRD in tourism is to develop :
(A) Knowledge (B) Abilities (C) Skills (D) All the above

What is a motel ?

(A) asmall hotel

(B) a small hotel on the highway where motorists may check in
(C) alarge hotel with parking facility

(D) a hotel with restaurant

The charters organised on the occassion of conferences are known as :
(A) Affinity charters (B) Conference charters
(C) Back-to-Back charters (D) Special charters

TGV’ (TRAIN a GRANDE VITESSE) runs in :
(A) Germany (B) Belgium (C) France (D) Japan

The nature of Travel agency and tour operators is that :

(A) both Travel agency and tour operators are wholesalers

(B) both the Travel agency and tour operators are retailers

(C) Travel agency is wholesaler and tour operator is retailer

(D) Tour operators are wholesalers and Travel agencies are retailers

J—9305 2
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

ITC in tourism parlance means :

(A) Indian Travel Corporation (B) Inclusive Tour Charters

(C) Indian Tour Charters (D) Indian Travel Company

Which one of the following is not a phase of Product Life Cycle (PLC) in tourism ?
(A) Introduction (B) Growth and Maturity

(C) Decline (D) Rejuvenation

Under the ABC Scheme, air fares may include :
(A) Only Ticket price
B) Ticket price and meals
) Ticket price and arrangements for movement on the land
) Ticket price and gift items

(
(
(

U0

A Travel agency would fall under which area of Marketing :
(A) Advertising (B) Publicity
(C) Personal selling (D) Sales promotion

MAHAYANA Buddhist Monasteries Stupas, Viharas and Sculptures were discovered
during the excavation at :

(A) ARIKAMEDU (B) VIKRAMSHILA

(C) KURUKSHETRA (D) NAGARJUNAKONDA

Which of the following recreational activities is least detrimental to the environment ?
(A) Motor cycling (B) Snow mobiling

(C) Water Skiing (D) Hang gliding

The development of Hypothesis is mainly based on :

(A) Case study (B) Experience Analysis

(C) Survey of literature (D) All the above

For a going business entity all functions of management are integrated in nature
because :

(A) these are only sequential in nature

(B) by their very nature they cannot be separated

(©) it is only when a function ends that the other begins

(D) these are not dependent on one another

For calculating x? (Chi Square), If R=3 C=2, than degree of freedom is :
(A) 5 (B) 6 © 7 (D) 8

Acid Test ratio is :
(A) Current Assets / Current Liability (B) Quick Assets / Current Liability
(C) Total Assets / Total Liability (D) Total Assets / Current Liability

Holding back Cash for investing in pt profit-making opportunities as and when they
arise is better explained as :

(A) Transaction motive (B) Precautionary motive

(C) Speculative motive (D) Compensating motive
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

@ & it Weg il T H fored A ©

(A) e e FRAEE (B) seRlfEe FaTEw

(C) sfemm =T (D) sfeam o et

e § Seure ki Sita =sh § FEifend | ¥ e Y Suteerd el g © ?

(A) duf== (B) fopm & ygsar (C) 3s1&Td (D) GASieA
ST ST o Sfaria s ST § ?

(A) fefore =1 qea (B) fefehe =1 You wE TR
(C) fefohe =1 Hou wd wag WA 1 Jo-9 (D) fefore 1 qoa1 wd o7 He

T Tort oo st o e 7 faen # o € 2
(A) fagmm (B) WER (C) =afdHTd forsha (D) fospa srfyafs

e § slig 7S, &4, foRR Ue Hiehell i Tisl el T GET o S et ?
(A) oTEHg (B) fersmmfirem (C) Fead (D) ANl

= & @ 3 9t srie-yuie fo nifafafy qafawe =1 9ot %1 @i wgenfa € 2
(A) TR HERAT (B) w1 HiatEfaT (C) S TR (D) &7 Tt

T <Rt Tk e fohd TR Horaan senfi § ?
(A) 9w (B)  3TWa I ooyl
(C) v Hfsd | 1 HaAaTor (D) 3w |t

T FoTd §U ATTH Tehel § Folre o qft Yehrd Wehighd T®q § o1 d § ?
(A) Hifew 3 s @@= & €

(B)  aiifeR Wkt <kl HoTd: STeT-oewT el foha S Tehell &

(C)  wRiifer woh wohTd THITH 3 TweT € GO WohTdl WIRR & Hehell &

(D) eHiifeh Teft worrd Wk g R AR A €

x2 (1g TEEY) Toh oM § 9fe eR=3 W Wi=2, B d T o 39 B

(A) 5 (B) 6 < 7 (D) 8
e xR AU TR ST T ©

(A) = sIfar/ e S (B) itw feqal/ = qifaan

(C) ot st/ qut gifaa (D) ot sifar/=ret St

TRt T SATeIeh AT T STehRie B w1 & o3 Jehe foh <29 1 3fTa e & 2

(A) oA & (B) ufawifae e

(C) uferafrd == (D) e ==

J—9305 5 P.T.O.



21. Assertion (A) A short trip into the water-world of the sea is what scuba-diving
involves.

Reason (R) : World famous scuba diving centres are in Japan and China.
(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

22. Assertion (A) Tourism became a thing of mass attraction.
Reason (R) : This happened as a result of the World Wars.
(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
23. Assertion (A) Speciality cruises are undertaken on voyages like whale
watching, archeology cruises etc.
Reason (R) : The ships normally undertake long voyages ranging between
2 - 8 weeks.
(A) Both (A) and (R) true
(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
24. Assertion (A) Franchise is an arrangement between an independent hotel
owner and the chain.
Reason (R) : The owner or franchisee is responsible for constructing,
maintaining and operating the property.
(A) Both (A) and (R) true
(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
25. Assertion (A) Hospitality is defined as a mission to fulfill human needs.
Reason (R) : It is mainly to attend to the guests.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
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22.

23.

24.

25.
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26. Assertion (A) The pioneer in Cargo Computerization was Alitalia, adopted
and modified by many airlines.

Reason (R) : Alitalia is the major supplier of information handling and cargo
modules.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

27. Assertion (A) Tourism in India has developed by chance and no serious efforts

have been made in this regard thereafter.

Reason (R) : Budget allocation for Tourism have been increased four times.

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

28. Assertion (A) In the third world countries, most of the tourists are back packer.

Reason (R) : Backpacker tourists are in demand of cheap Accomodation.
(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
29. Assertion (A) For the development of successful tourism practices, we have to
lay emphasis on the training of manpower.
Reason (R) : IITTM was established by Ministry of Tourism to produce trained
tourism professionals.
(A) Both (A) and (R) true
(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
30. Assertion (A) Tourism is known as the business of peace time.
Reason (R) : Tourism in South-East Asian Countries developed after the

Vietnam War.
(A) Both (A) and (R) true
(B) Both (A) and (R) true, but (R) is not the correct explanation
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
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27.

28.

29.

30.
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31.

32.

33.

34.

35.

36.

During the flight from Delhi to Tokyo, the following are the sequence of landing airports
during the onward journey.

(i) Hong Kong (i) Hanoi (iii) Taipei (iv) Bangkok
Code :

(A) (), (i), (iii), (iv) (B)  (iv), (i), (), (iii)

(©) (i), (iv), (), (i) (D) (@), (), (i), (iii)

The customer has to go through Five stages in the process of adopting a new product in
order as :

(A) Interest, Awareness, Adoption, Trial, Evaluation
B) Adoption, Trial, Interest, Awareness, Evaluation

) Awareness, Interest, Evaluation, Trial, Adoption
D) Awareness, Evaluation, Trial, Interest, Adoption

Identify the correct chronological sequence of the following personalities who visited
India :

(A) Marcopolo, Hiuen-tsang, Fahien, Itsingh
B) Fahien, Marcopolo, Itsingh, Hiuen-tsang

) Marcopolo, Fahien, Itsingh, Hiuen-tsang
D) Fahien, Hiuen-tsang, Itsingh, Marcopolo

Arrange the following transport in order in which they appeared :

(A) Pullman coaches, Motor car, Orient express, North Atlantic shipping
(B) Pullman coaches, Orient express, North Atlantic shipping, Motor car
(C) Orient express, North Atlantic shipping, Motor car, Pullman coaches
(D) Orient express, Pullman coaches, North Atlantic shipping, Motor car
Arrange the following organisations in order in which they appeared :

@i IUOTO () WTO (iii) PATA (iv) IATA

Code :
(A) (), (i), (i), (i) (B) (), (1), (iid), (ii)
Q) (@), (), (i), (iv) (D) (i), (i), (iv), (@)

Arrange the following events in order of years they appeared :
(i) World Travel Mart, London

(ii) International Brussels Travel Fair, Brussels

(iii) Feria International Tourism (FITUR), Madrid

(iv) The International Tourism Bores (ITB), Berlin

Code :
(A) (1), (i), (i), (iii) (B) (@), (i), (iii), (iv)
(©) (), (iii), (iv), (i) (D) (@), (iv), (iid), (ii)
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31.

32.

33.

34.

35.

36.

fegt & Afhail Ft SeM % <A e # famm % 3w & ford famm 9ot 1 6w frefafea 2

(i) BRI (i) = (iii) YT (iv) iR
wS:

(A) (@), (i), (i), (iv) (B)  (iv), (i), (i), (iii)

(©) (i), (iv), (i), (ii) (D) (), (@), (i), (iii)

ITIH g Teh T3 SCUTE h1 ST ot G631 | Ui hH FIEed € hi=ar 69 Hel € ?
(A) &, STk, ST, I, Jedich
(B)  STUAHI, TG, &, STHTEehdl, Jeieh
(C) T, &, Feoich, T, AT
(D)  SIRsehdl, Hedich, I8, &, S

frfafad =fedl & Taarssd | R | g9 & fafed #2
(A) TR, A, B, ST (B) I, AIEhAIAl, S, JEH
(C) Hrehtdredl, WIfqa™, S, JEENT (D) wifca, JFEET, SafE, Aehidre

frefafed afesd gom & HAER yo «i fafed &)

(A) THA ®E, WX HR, ETe T, Mo uedlte fafum
(B) Yot i, onfiEic uwady, 1 wedites faftm, dix R
(C) enfare weady, o weatites fafdm, Het &R, e &
(D) enfatc teadg, qorie %, =1 Teaies i, S aR

FrreAferfiaa el sl Sehl TTaET & Harshy | fead |
@ IUOTO (i) WTO (i) PATA  (iv) IATA
wS:

(A)  (iv), (i), (ii), (i) (B)  (iv), (i), (iid), (ii)
(©) (@), (i), (iii), (iv) (D) (i), (ii), (iv), (i)
1 sreTTedl Sl THATTER = oF A

(i) o€ o A, ded

(i) TR JHCH g o, e

(iil) TRIRAT T=CRMA 2 (TSR3, 31R) He

(iv) = Tera R A (s dE) afe

®Ig:

(A)  (v), (i), (i), (iii) (B) (i), (ii), (iii), (iv)
Q) (i), (i), (iv), (i) (D) (i), (iv), (i), (ii)
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37. Arrange the following festivals in order in which they observe in India :

(i) Onam (i) Ganesh Chaturthi

(iii) Vaisakhi (iv) Makar Sankranthi

Code :

(A) (i), (i), (i), (i) (B) (), (i), (iii), (iv)
(©) () @), (i), (i) (D) (i), (iii), (iv), (i)

38. Arrange the following communication process in order :
(i) Encoding (i) The Message
(iii) The Communicator (iv) The Medium
(v)  Decoding

Code :
(A) (@), (), (iv), (i), (v) (B) (i), (i), (i), (iv), (v)
Q) (i), (@), (i), (iv), (v) (D) (v), (i), (i), (i), (iv)

39. Identify the correct match :
(a) Rock climbing
(b)  Scuba Diving
(c) Ballooning

i)  Water sports
ii)  Ground sports
iii) Aero sports
(d) Canoeing
Code :

(@ (b) (o) (d)

iv) Water sports

(A) (@) @) (v) (i)
(B) () (@v) @) ()
© () @ @) ()
(D) (i) () (v) (i)

40. Match the following :
(a) Maintaining something in its (i) Renovation
present form

(b) Protecting from decay and (ii) Restoration
destruction

(c) Restoring something in (iii) Preservation
good condition

(d) Returning something in (iv) Conservation
previous condition

Code :

(@ (b) (o) (d)

(A) @) @Gv) @ @)
(B) @) (@v) @) @)

© Gv) (@) @ @)
(D) @) (@) @) @Gv)

J—9305 12



37. fyeifera val ol o o URE § 3k T o STUR THATTHH | <9 |

(@)

wS:
(A)

(©

o (ii)  TToreT =rqeff (iii)
(iv), (iii), (ii), (i) (B)
(i), (iv), (ii), (iii) (D)

SrEt (iv) FeRIEHI

(), (i), (iti), (iv)
(i), (iii), (iv), (i)

38. WM, WER GOR (FHMARYH) FHHa1 § Tiafafel sl HHJar au |

(i) e g S (ii)
(i) Hew YuH (iv)
(v) wfed sig J<w i G
ws:
(A) @), (i), (iv), (iii), (v) (B)
Q) (i), (3), (i), (iv), (v) (D)
39. RIS ey |
(a) e STRE i) v B
(b) TR T (i) o e
(c) I (iii) =g BT
(d) T (iv) Serbier
WS
(@ () (@ (@
(A) @) @) @v) (i)
(B) (i) (@(v) @) (i)
© @ @ @) (Gv)
(D) (i) (i) (iv) (i)
40. ¥ e fuermsd |
(a) Torelt ag o1 3o Hifarsh w@ed & W
(b)  Torelt arg o1 &1 Wa SATIaH § T B
(c) Tordll g =l 3T feerdt & @
(d) ot g ot sHent g fercdt & @
=S
(@ @) (o (d
(A) (@) @Gv) @) (i)
(B) (i) (v) @) (i)
Q) (@v) (@) @ (i)
(D) @) (D) () ()

J—9305
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41. Match the Airlines with its hotel chain :

(a) Air Nippon (i Sunwing
(b) SAS (i) Tropical
() TWA (i) Ana Enterprises
(d) VARIG (iv) Hilton
Code :
(@ (b) (o) (d)
(A) @) @ G ()
(B) Gv) (@) @) ()
© @) @ (@v) (i)
(D) @ @) @) @)

42. Identify the correct match :
(a) Dachingham (i) Tamil Nadu

(b) Pin Valley (i) Jammu and Kashmir

(c) Silent Valley (iii) Kerala

( (

(

d) Green Valley iv) Punjab
v) Himachal

Code :
@ () (© ()

(A @® G @G @)
(B) Gv) (@) @) ()
© (@v) @ @) @)
(D) @) (v) () ()

43. Find the correct match :

(a) Coral Reefs (i) Amazonia

(b)  Destruction of forests (i) Mediterrian

(c) Water quality (iii) Africa

(d) Wild life (iv) Pacific Ocean
(v) Arabian Sea

Code :

(A) @) @) @) Gv)
B @) @O () ()
© G@v) @ @) ()
(D) Gv) (@) @) ()

J—9305 14



41.

AT SIS

At
EIRETC]
(iif)
(iv) fewe

()
(i

TR e

THLTE.

Frfafad argEensi & 37% 2ea g@e ¥ e |

(a)
(b)

- ' N N

- N N N

~_~ s OO

N N N gt

- N N N

- N N N

~_— e OO

-~ o OO

N N ' N~ —

N N ' N~ ~—

N N N N —
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44.

45.

46.

Select the correct match :

(a) Santosa (i) India
(b) Kufri (i) Malaysia
(c) Angkorvat (iii) India
(d) Marina Beach (iv) Singapore
(v) Combodia

Code :

@@ () (o (d)
(A) @ @@ © @)
(B) @) @) @ @)
© @) @ (v ()
(D) @v) @@ @O ()

Identify the correct match :

(a) Elephanta Caves (i) Rajasthan
(b)  Victory Tower (i) Tamil Nadu
() Brihadeshwara Temple (i) Karnataka
(d) Manas Wild Life Sanctuary (iv) Maharashtra
(v) Assam

Code :

(@ (b) (o) (d)
(A) @ @) (v) ()
B) @) @ @ ()
(© () (v) (D) (D)
(D) @) () (@) (V)

(Question no. 46 - 50) : Read the following passage carefully and answer the questions
given at the end.

Tourism’s status as an industry remains a hotly debated issue. Unlike many other
economic activities, there is no universally accepted definition of tourism. Part of the
difficulty rests with the amorphous nature of tourism and the conceptual and
methodological complexity characterizing terms like tourism, travel and tourist. The
lack of consensus on what these terms mean has resulted in conceptual fuzziness that
has triggered an ongoing debate between geographers and other social scientists, about
the validity of treating tourism as an industry. Tourism is a fundamentally different
type of industry from other forms of commodity production. Tourism is no simple
product but, rather, a wide range of products and services that interact to provide an
opportunity to fulfill a tourist experience that comprises both tangible and intangible
parts.

The author feels that the status of tourism is debatable because :
(A) tourism is not an economic activity

B) the unanimity among authors cannot be reached

) of the complex character of the concept

D) the social scientists do not want the clarity in concepts

J—9305 16



(i) wra

(b)  FH (if) oAty

(c) STTRRER (iii) wRa

(d) w8 e (=) (iv) famgm
(v) chwifen

®g:

(@ () () (d)

Ay @© G@ () @)

(B) @) (@) @ ()

© (@) @ (v) (i)

D) Gv) G @ (W)

45. o el S A H

(a) TfaH=TER (i) TSTEIH

(b) v Ty (i) dHETS

(c) deavay Hf<Y (i) feH

(d) =g MER (iv) TRy
(v) omEd

®ig:

(@ () (o) (d)

Ay @ @) (v) (i)

B) @) @ G ()

Q) (v) (v) (D) (i)

(D) ) (i) (@) (v)

freifeRa Tener ot g ST fadl T weel ST SeRE

T &I ST &% ®Y H WhRI® Tk Ted 99 o1 foug g1 19 snfefs nfafafesi =t =
T € e wefer o fawg | T 78§ U1 suferd § for vden o v S1fg s § 1 U
Taferd ot § Fifer Teied, T Ud wesh vsal o Wel waey fondt off A Sgifaes el O S1an facte
¥ | THTAA1 & ST H Sgifach STl A 59 e § ek fordeh I ierenet, THSee % o/
R TH IR [ o g o T senfs Ikl 1 R Uk 38 & ®9 H 7 foRe S A | wieR
T &9 Yarelf % S it WiHan 9 firet 1 iifer W g wee Seae e § S1fuq Wk g STt
TG T HAI3Tl 1 HHE B 1 T 1 A ST ATHAT oh TR TGN o YR W TH @S TIHT AT
it feh 7l wol @7 w9 H B

46. 39U T F TG T =T § ok T 1 TN ek qUf B it
(A) T T enfie nfafafy & § (B) Hifeh 38 Ty H Wt TiEeh THAA T ©
(C) TWAw gk eI TETRIT (D) TS s9H H51f<Teh Taga1 78 =med
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47. According to the passage, it is not possible to have consensus on terms like tourism,
travel etc, due to :

(A) the presence of unique characteristics of tourism
(B) the behavioural patterns of the writers

(C) the fact that there is no need for consensus

(

D) the govt has not taken interest in this issue

48. The tourism cannot be treated as industry since :
(A) the manufacturing industry opposes this move
(B) it is different from other types of industries
(C) the consensus on tourism related concepts is not reached
(

D) this is neither industry nor service

49. According to the text in the passage, tourism is not a simple product owing to :

A) its special characteristic features present in them

(
(B) the non-availability of complex products in other sectors
(C) its supply of wide range of products and services

(

D) the definition given by tourism experts

50. The author’s message is that :
A) the status of tourism is at crossroads
B) the debate on status of tourism to be continued

(
(
(C) the government should intervene in the matter
(

D) the World Tourism Organisation (WTO) should take a stand on this issue.

-00o0-
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47.

48.

49.

50.

TG TR & STTUR T, Uiesh Tefe vIsal bt Ui H ek Hear saferd Tl § o
A) e & fafime @gon for 3ufeurfa
B

(
(B) <@l Tl FEER WEY T 7 T

(C) =& fowa o ush el i STavaehdl TE ©
(D) wWHR A 39 fama & &8 w9 78 <ff

e 1 T H wnfHet R ST Hehdr § Hif
A) 3= qared 3cTes U e e

7 311 Ja | fue §

C) Tt fawa & dgif<aeh U wad 78 ©
D) 7@ ¥ A T, 7 & T

B

~—"

(
(
(
(

T % STTHR TH Teh Tl 91 ScTS el § SHiifeh
(A) =it gaH fafem @aror wffaa §

(B) ferf qa & & T wifewt seure i §

(C) =uH ifersh T § 3cIg we A §

(D) e fomioail R & g Wi 7

3T TR % A G © T

A) T 1 T T G W E

79 fowa ® qeh faaes @ea @

TR 1 39 fova # Teadid w1 =i

e, 1. 371, 1 39 faw § T T e we e

B

~—"

(
(
(©
(D)

-00o0-
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